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Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made it mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories betore shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some produets or to
exports.

Ensuring quality 1s the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical ndustry while protecting public health and patient rights 13 required. CDSCO is the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer. meeting 20% of global generic demand. The $41 billion
industry is estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions

Question Number : 1 Question Id : 68634021868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

2

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634086401. 1
68634086402. 2
68634086403. 3
68634086404. 4

Question Number : 2 Question Id : 68634021869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym or the term 'Overhaul'

1. Overhear

[

. Examine
3. Excessive growth
4. Overexpose

Options :

68634086405. 1
68634086406. 2
68634086407. 3
68634086408. 4

Question Number : 3 Question Id : 68634021870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO

Options :

68634086409. 1
68634086410. 2
68634086411. 3
68634086412. 4

Question Number : 4 Question Id : 68634021871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are :

1. Medicines used by high class people.

()

. Medicines having old brand name.
3. Medicines having no brand name.

4. Medicmes meant for plants and animals only.

Options :

68634086413. 1
68634086414. 2
68634086415. 3



68634086416. 4

Question Number : 5 Question Id : 68634021872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

2

. 10 Million
3. 100 Million

4, 1000 Million

Options :

68634086417. 1
68634086418. 2
68634086419. 3
68634086420. 4

Question Id : 68634021867 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made it mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 13 welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some produets or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports is like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent,
statutory regulatory system that has the capacity to provide oversight to an inereasingly complex
pharmaceutical ndustry while protecting public health and patient rights 13 required. CDSCO is the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts imndependent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 18 the third-largest pharma manufacturer. meeting 20% of global generie demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions



Question Number : 1 Question Id : 68634021868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

()

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634086401. 1
68634086402. 2
68634086403. 3
68634086404. 4

Question Number : 2 Question Id : 68634021869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym or the term 'Overhaul'

1. Overhear

[

. Examine
3. Excessive growth
4. Overexpose

Options :

68634086405. 1
68634086406. 2
68634086407. 3
68634086408. 4

Question Number : 3 Question Id : 68634021870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO
4. CDVO

Options :



68634086409. 1
68634086410. 2
68634086411. 3
68634086412. 4

Question Number : 4 Question Id : 68634021871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are :

1. Medicines used by high class people.

[

. Mediemes having old brand name.

. Medicmes having no brand name.

L ¥]

4. Medicines meant for plants and animals only.

Options :

68634086413. 1
68634086414. 2
68634086415. 3
68634086416. 4

Question Number : 5 Question Id : 68634021872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

[

. 10 Million

. 100 Mallion

L]

4, 1000 Million

Options :

68634086417. 1
68634086418. 2
68634086419. 3
68634086420. 4
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Pick out the meamng of the underlined word m the following sentence:
He 15 done for.

1. revived

| ]

. ruined
3. glorified
4. encouraged

Options :

68634086421. 1
68634086422. 2
68634086423. 3
68634086424. 4

Question Number : 6 Question Id : 68634021873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined word in the following sentence:

He 15 done for.

1. revived

| )

. ruined
3. glorified

4. encouraged

Options :

68634086421. 1
68634086422. 2
68634086423. 3
68634086424. 4

Question Number : 7 Question Id : 68634021874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common
Q. love. friendship and respect
R. do not unite people as
S. hatred for something
Choose the correct answer from the options given below:
1.S,PR,Q
2.Q.S.R.P
3.P.Q.S.R

4.Q.R.PS

Options :

68634086425. 1
68634086426. 2
68634086427. 3
68634086428. 4

Question Number : 7 Question Id : 68634021874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common
Q. love. friendship and respect
R. do not unite people as
S. hatred for something
Choose the correct answer from the options given below:
1.S.P.R.Q
Z2:.Q,8,RP
3.P.Q.S.R

4.Q.R.PS

Options :

68634086425. 1
68634086426. 2
68634086427. 3
68634086428. 4



Question Number : 8 Question Id : 68634021875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word m the following sentence.
You are paying less attention to your studies than vou used to do.

1. Noun

| ]

. Pronoun
3. Verb
4. Adjective

Options :

68634086429. 1
68634086430. 2
68634086431. 3
68634086432. 4

Question Number : 8 Question Id : 68634021875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word i the following sentence.

You are paying less attention to your studies than you used to do.

1. Noun

| )

. Pronoun
3. Verb
4. Adjective

Options :

68634086429. 1
68634086430. 2
68634086431. 3
68634086432. 4

Question Number : 9 Question Id : 68634021876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the passive voice of the followmg sentence.
She looks after the child.

1. The child are looked after by her.

[

. The child were looked after by her.
3. The child is looked after by her.

4, The child looks after her.

Options :

68634086433. 1
68634086434. 2
68634086435. 3
68634086436. 4

Question Number : 9 Question Id : 68634021876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the passive voice of the following sentence.

She looks after the child.

1. The child are looked after by her.

[ ]

. The child were looked after by her.
3. The child is looked after by her.

4. The child looks after her.

Options :

68634086433. 1
68634086434. 2
68634086435. 3
68634086436. 4

Question Number : 10 Question Id : 68634021877 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the one word for the following:
" B " cl "
Possessing unlimited powers.

1. Omuniscient

| ]

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634086437. 1
68634086438. 2
68634086439. 3
68634086440. 4

Question Number : 10 Question Id : 68634021877 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the one word for the following:
"Possessmg unlimited powers.”

1. Omuiscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634086437. 1
68634086438. 2
68634086439. 3
68634086440. 4

Question Number : 11 Question Id : 68634021878 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following was an Indian astronomer. mathematician and astrologer who lived m Ujjain m the

6™ century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

[

. Gotam Muni

. Ishwaralrishna

L]

4. Varahamihira

Options :

68634086441. 1
68634086442. 2
68634086443. 3
68634086444. 4

Question Number : 11 Question Id : 68634021878 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was an Indian astronomer. mathematician and astrologer who lived in Ujjain m the
6™ century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

()

. Gotam Mumi

. Ishwaralarishna

[F¥]

. Varahamihira

s

Options :

68634086441. 1
68634086442. 2
68634086443. 3
68634086444. 4

Question Number : 12 Question Id : 68634021879 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1. P.T. Usha

()

. Vijendra Singh
3. Neeraj Chopra

4. PV Sindhu



Options :

68634086445. 1
68634086446. 2
68634086447. 3
68634086448. 4

Question Number : 12 Question Id : 68634021879 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.P.T. Usha

[

. Vijendra Singh

T

. Neeraj Chopra

4. PV. Sindhu

Options :

68634086445. 1
68634086446. 2
68634086447. 3
68634086448. 4

Question Number : 13 Question Id : 68634021880 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Milk produced during the initial few days of lactation’ is called :

1. Antrum

[

. Colostrum

. Fulerum

L]

4, Cholesterol

Options :

68634086449. 1
68634086450. 2
68634086451. 3
68634086452. 4

Question Number : 13 Question Id : 68634021880 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Malk produced during the mnitial few days of 'lactation’ 1s called :

1. Antrum

[ E]

. Colostrum
3. Fulermm

4. Cholesterol

Options :

68634086449. 1
68634086450. 2
68634086451. 3
68634086452. 4

Question Number : 14 Question Id : 68634021881 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jamism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A, B and D only

)

.B, C and D only

Laa

. C and D only

4. D only

Options :

68634086453. 1
68634086454. 2
68634086455. 3
68634086456. 4

Question Number : 14 Question Id : 68634021881 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A, B and D only

()

.B. C and D only

[ ¥]

.C and D only

4. D only

Options :

68634086453. 1
68634086454. 2
68634086455. 3
68634086456. 4

Question Number : 15 Question Id : 68634021882 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following constitute the electoral college for electing the President of India?

A, Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Couneil

D. Elected members of Rajyva Sabha

Choose the correct answer from the options given below:

1. A, B and D only

()

A, Cand D only

[F¥]

.B. C and D only

4. A and B only

Options :

68634086457. 1
68634086458. 2
68634086459. 3
68634086460. 4

Question Number : 15 Question Id : 68634021882 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following constitute the electoral college for electing the President of India?

A, Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Couneil

D. Elected members of Rajyva Sabha

Choose the correct answer from the options given below:

1. A, B and D only

()

.A. Cand D only

[ ¥]

.B. C and D only

4. A and B only

Options :

68634086457. 1
68634086458. 2
68634086459. 3
68634086460. 4

Question Number : 16 Question Id : 68634021883 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a row of students. the position of Vikas from the left side of the row is 18t and the position of Vikas from

the right side of the row is 38t Find the total number of students in the row?
1.55
2.56

ST

Laa

4. 58

Options :

68634086461. 1
68634086462. 2
68634086463. 3
68634086464. 4

Question Number : 16 Question Id : 68634021883 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a row of students. the position of Vikas from the left side of the row is 18 and the position of Vikas from

8t Find the total number of students in the row?

the right side of the row 1s 3
1.55
2.56

ST

(Y]

4. 58

Options :

68634086461. 1
68634086462. 2
68634086463. 3
68634086464. 4

Question Number : 17 Question Id : 68634021884 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged m descending order, which among the
tollowing corresponds to the smallest number?

1. 865
2. 468

993

Laa

4. 786

Options :

68634086465. 1
68634086466. 2
68634086467. 3
68634086468. 4

Question Number : 17 Question Id : 68634021884 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged m descending order, which among the
tollowing corresponds to the smallest number?

1. 865
2. 468

993

Laa

4. 786

Options :



68634086465. 1
68634086466. 2
68634086467. 3
68634086468. 4

Question Number : 18 Question Id : 68634021885 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : I. It 1s impossible to grow and produce all that a country needs.
II. The people of the country in general have become lazy.

1. Only II conclusion follows.

(o)

. Both I and IT conclusion follows.

. Either I or II follows.

Lad

4. Only I conclusion follows.

Options :

68634086469. 1
68634086470. 2
68634086471. 3
68634086472. 4

Question Number : 18 Question Id : 68634021885 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : I. Tt 1s impossible to grow and produce all that a country needs.
II. The people of the country in general have become lazy.

1. Only IT conclusion follows.

[ )

. Both I and II conclusion follows.

. Either I or II follows.

T

4. Only I conclusion follows.

Options :

68634086469. 1
68634086470. 2
68634086471. 3
68634086472. 4



Question Number : 19 Question Id : 68634021886 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1.18

[ )

"
3.16
4.15

Options :

68634086473. 1
68634086474 2
68634086475. 3
68634086476. 4

Question Number : 19 Question Id : 68634021886 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1.18

[ )

"
3.16
4.15

Options :

68634086473. 1
68634086474. 2
68634086475. 3
68634086476. 4

Question Number : 20 Question Id : 68634021887 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Six friends Arun, Babita. Chandra. Dipika. Ekta and Faria are sitting 1 a row facing towards North. Chandra
is sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 12 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

(R

. Babita
3. Chandra

4, Ekta

Options :

68634086477 1
68634086478. 2
68634086479. 3
68634086480. 4

Question Number : 20 Question Id : 68634021887 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Arun, Babita. Chandra. Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
is sitting between Arun and Ekta. Dipika 1s not at the end. Babita is sitting immediate right to Ekta. Faria 18 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

[

. Babita
3. Chandra

4. Ekta

Options :

68634086477. 1
68634086478. 2
68634086479. 3
68634086480. 4

Question Number : 21 Question Id : 68634021888 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation 3x” — 10x + 2p = 0 has equal roots then the value of p is -

[

Options :

68634086481. 1
68634086482. 2
68634086483. 3
68634086484. 4

Question Number : 21 Question Id : 68634021888 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation 3x” — 10x + 2p = 0 has equal roots then the value of p is -

[ )

Options :

68634086481. 1
68634086482. 2
68634086483. 3
68634086484. 4

Question Number : 22 Question Id : 68634021889 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a certamn sum mnvested on compound mterest becomes 3 times 1n 4 years. then the no. of years in which this
sum will become 27 times at the same rate of mterest 1s -

1. 16 years

()

. 18 years

L]

. 15 years
4. 12 years

Options :

68634086485. 1
68634086486. 2
68634086487. 3
68634086488. 4

Question Number : 22 Question Id : 68634021889 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a certain sum invested on compound interest becomes 3 times in 4 years. then the no. of years in which this
sum will become 27 tumes at the same rate of mterest 1s -

1. 16 years

()

. 18 years

L]

. 15 years
4. 12 years

Options :

68634086485. 1
68634086486. 2
68634086487. 3
68634086488. 4

Question Number : 23 Question Id : 68634021890 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two fair dice are thrown. The probability that the number of times the first dice exceeds 3 and that the second
exceeds 4 will be :

i 2
6

i

2
I

6

(1] [«

=

Options :

68634086489. 1
68634086490. 2
68634086491. 3
68634086492. 4

Question Number : 23 Question Id : 68634021890 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two fair dice are thrown. The probability that the number of times the first dice exceeds 3 and that the second
exceeds 4 will be :

i 2
6

Lh

(&

o=

=y
(= 17

Options :

68634086489. 1
68634086490. 2
68634086491. 3
68634086492. 4

Question Number : 24 Question Id : 68634021891 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of 11 numbers 1s 32. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 15
49. The sixth number 1s

—

.51

[

.49

D2

L]

4. 55

Options :

68634086493. 1
68634086494. 2
68634086495. 3
68634086496. 4

Question Number : 24 Question Id : 68634021891 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 11 numbers 1s 52. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 15
49. The sixth number 1s

:h.
N
L

Options :

68634086493. 1
68634086494. 2
68634086495. 3
68634086496. 4

Question Number : 25 Question Id : 68634021892 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from pomt A and point B and
approached each other with speed of 36 kim/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 km

[

4000 km

3.3995 km

4, 400.5 kon



Options :

68634086497. 1
68634086498. 2
68634086499. 3
68634086500. 4

Question Number : 25 Question Id : 68634021892 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from pomt A and point B and
approached each other with speed of 36 km/hr and 44 km/hr respectively. When they crossed each other. 1t was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 lan

| ]

4000 km
3.3995 km

4.400.5 lon

Options :

68634086497. 1
68634086498. 2
68634086499. 3
68634086500. 4

Part B: B Ed Mathematics

Section Id : 686340434
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340715
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634021893 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The base of hexadecimal system 1s
1.2

2.6

4. 16

Options :

68634086501. 1
68634086502. 2
68634086503. 3
68634086504. 4

Question Number : 26 Question Id : 68634021893 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eqgre T ey #1949 &-

1.

]

[ ]
(o3

4.16

Options :

68634086501. 1
68634086502. 2
68634086503. 3
68634086504. 4

Question Number : 27 Question Id : 68634021894 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The EEPROM stands for:

1. Electronically Erasable Programmable Read Only Memory

()

. Electrically Erasable Programmable Read Only Memory
3. Electrically Easy Programmable Read Output Memory

4. Electronically Erasable Programmable Read Output Memory

Options :

68634086505. 1
68634086506. 2
68634086507 3



68634086508. 4

Question Number : 27 Question Id : 68634021894 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SN HI M AAG -
1. ZARIFE geeiad Uadad s =it aarRl
gdldeda svoidd UHHed s =il HHR]
. gafagdd goll WHTHad S S3eye TuR
4. geaCIHchell Sieiad UHHed s 3m3cye ARl

Options :

68634086505. 1
68634086506. 2
68634086507 3
68634086508. 4

)

Lad

Question Number : 28 Question Id : 68634021895 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MAC stands for:

1. Machine Access Control

[ E]

. Media Access Certificate

. Media Access Control

]

4. Machine Access Code

Options :

68634086509. 1
68634086510. 2
68634086511. 3
68634086512 4

Question Number : 28 Question Id : 68634021895 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0 (MAC) BT RTAH G -
1. HRI TS dela
Tfsan vasg wifthene
rfsar e s
4, T U IS

Options :

68634086509. 1
68634086510. 2
68634086511. 3
68634086512. 4

| ]

[ 5]

Question Number : 29 Question Id : 68634021896 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

o ARELE, LISTII
Name of built-in A :
: Explanation
Exceptions

[t 15 raised when the user accidentally hits the

A [Kevboardlnterrupt| 1. |Esc key while executing a program due to which
the normal flow of the program 1s interrupted.

[t 1z raised when an operator 1s supplied with a
value of incorrect data tvpe.

I [t 15 raised when the file specified in a program

" |statement cannot be opened.

B. [TypeError II.

C. [OError

[t 15 raised when the requested module definition

D. lmportError IV | -
1s not found.

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV

()

A-IV, B-II1. C-II. D-I

CA-ITTL, B-I1L C-IV, D-I

[F¥]

4. A-1, B-IT1. C-I1. D-IV

Options :

68634086513. 1
68634086514. 2
68634086515. 3
68634086516. 4

Question Number : 29 Question Id : 68634021896 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 & 91y Gl 11 DT e Bife

-ﬁ?ﬁ] -ﬁ'_‘ﬁ[[
(e T uRE & —
Y % e
> 08 Ic0H 5idl § 96 g o H Esc D9l aaldl
& 99 & HuIfcd ed 90y, fordds BRI UM &1 919 UdTe a1dd aidl o
B. [cRUUR 11 [98 304 &ldl & 9id U e dl 7Tdld slel <3y &l Hi a1 ofidl g |
C. [smEHitx 111 [98 304 5id] & 9d WI5d 1999 ®U ¥ U UIH $Y= J @lal Jal ol 9odl § |
D. fHeTR IV. [78 3009 5idl & wd Halad (NP S) JTedd of JHTH el Hadi o

I f3U 70 fadhedl O U Tel 3T &1 99 Bl

1. A-I, B-II. C-IIL, D-IV

[ ]

CA-TV, B-IIIL, C-I1, D-1

. A-IIL B-IL. C-IV, D-I

faa

4. A-L. B-III. C-II. D-IV

Options :

68634086513. 1
68634086514. 2
68634086515. 3
68634086516. 4

Question Number : 30 Question Id : 68634021897 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about the file format extension(s):

1. .txt Only

| ]

. .rtf Only

. .csv Only

[F¥]

4. 1tf, .csv and .txt

Options :

68634086517. 1
68634086518. 2
68634086519. 3
68634086520. 4

Question Number : 30 Question Id : 68634021897 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAfRET I 9 19 91 BIgd WReY URieRH & aR 8 981 § -
1. HI .txt

A stf

3. Had .csv

4, otf, .esv Sﬁ—{ Axt

| ]

Options :

68634086517. 1
68634086518. 2
68634086519. 3
68634086520. 4

Question Number : 31 Question Id : 68634021898 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following cable used in Wired Transmission Media?

1. Twisted Pair Cable only

[ E]

. Coaxial Cable only
3. Optical Fibre only

4. Twisted Pair Cable, Optical Fibre and Coaxial Cable,

Options :

68634086521. 1
68634086522 2
68634086523. 3
68634086524. 4

Question Number : 31 Question Id : 68634021898 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeed & O $H 91 Saq. IR died J=R0 HiEar § S9rT §idl g7
1. Fae AR S YoR aa

. Hdd DU Had

I ATPIHT BIaR

4. TEIRS UOR Pea, HTPIHT BIEER AR ST S

Options :
68634086521. 1

| ]

Lad



68634086522. 2
68634086523. 3
68634086524. 4

Question Number : 32 Question Id : 68634021899 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Networking devices used to connect multiple computers in different settings.

Statement IT: In a communication network, each device that is a part of a network and that can receive, create,
store or send data to different network routes is called a node.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT 1s false

4. Statement [ is false but Statement IT 1s true

Options :

68634086525. 1
68634086526. 2
68634086527. 3
68634086528. 4

Question Number : 32 Question Id : 68634021899 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A oA g %
HYA 1 ; HediT [Sargd 1 IuaiT fafis aiie! & 9gd el &l wie- § fear S|

Y11 : TP R Jead 8 Udd i&digﬁﬁ“ﬁﬁﬁﬁ%ﬁﬁlﬁ%ﬁ@ﬁﬁ%%?@ﬂuﬁm
U B3 G&dl 6. 941 95l 8. T P IHdl & AU U 9ol g, U 118 dedadl ol

SRIFd HUA & ATAS J 7= U fdeed § 9 98t ST &1 79 HIfe:
1. PYTI RIS T &
YA AR SH 3T

| ]

3. HYTI I g, Afhd FYTII 3T ©

4. YT T . Afp T YT I T B

Options :
68634086525. 1



68634086526. 2
68634086527. 3
68634086528. 4

Question Number : 33 Question Id : 68634021900 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following operation 1s used to remove one element at a time from the Queue?
1. PUSH

2. DEQUEUE

s

.ENQUEUE

4. POF

Options :

68634086529. 1
68634086530. 2
68634086531. 3
68634086532 4

Question Number : 33 Question Id : 68634021900 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frgffad & ®F 91 TR U 99 H 7 (Queue) ¥ US o 1 8 § SUGNT €T 8-
L

SIRY

Y

A

4. 919

-a

fad

Options :

68634086529. 1
68634086530. 2
68634086531. 3
68634086532. 4

Question Number : 34 Question Id : 68634021901 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The equivalent hexadecimal digits of binary digits 101111100001 1s:
1.ADI1
2.BF1
3IBE1

4. AF1

Options :

68634086533. 1
68634086534. 2
68634086535. 3
68634086536. 4

Question Number : 34 Question Id : 68634021901 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g E=I10111110000 1B grITS T G&A1 8|

1.ADI1

[ ]

.BF1
3.BE1

4. AF1

Options :

68634086533. 1
68634086534. 2
68634086535. 3
68634086536. 4

Question Number : 35 Question Id : 68634021902 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A newspaper containg various types of news items which is the following of the data types?

1. Unstructured Data

()

. Structured Data
3. Semu Structured Data

4. Semui Structured and Structured Data

Options :

68634086537. 1
68634086538. 2
68634086539. 3



68634086540. 4

Question Number : 35 Question Id : 68634021902 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% YHAER U4 $5 UOR & GHER &1 39d1 8, ol {6 HEfaied § 9 5 9 Seregy g2

1. SC R STel

)

CFER STel

(]

YRR STel

Lad

4. YRE R IR IR SIe]

Options :

68634086537. 1
68634086538. 2
68634086539. 3
68634086540. 4

Question Number : 36 Question Id : 68634021903 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In C programming % d 1s used for:

1. Printing Integer Values

[ E]

. Printing Character Values

]

. Printing Real Values
4. Printing Strings

Options :

68634086541. 1
68634086542 2
68634086543. 3
68634086544. 4

Question Number : 36 Question Id : 68634021903 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C TR o, d T W fop fou gl &

_quites g1 & fifd & fag

 PEe (e Al & Mfdn & fou
3. ARId® AF1 & Wi & g
4. fE&w fufén & fequ

Options :

68634086541, 1

68634086542, 2

68634086543. 3
68634086544. 4

[a—y

[

Question Number : 37 Question Id : 68634021904 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the non-volatile memory?

1. ROM

[

. FAM

. DRAM

L]

4. SRAM

Options :

68634086545. 1
68634086546. 2
68634086547. 3
68634086548. 4

Question Number : 37 Question Id : 68634021904 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfREd 3 9 19 91 AH-diaesd J9Rt 32
1.39
2.
3.8k°
4, TEH

Options :
68634086545. 1



68634086546. 2
68634086547. 3
68634086548. 4

Question Number : 38 Question Id : 68634021905 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Modem stands for Modular DEModular', 18 a device used for conversion between analog signals
and electrical signal.

Statement IT: Ethernet card. also known as Network Interface Card (NIC) 1s a network adapter used to seta
wireless network.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 1s false

4. Statement I 1s false but Statement I1 1s true

Options :

68634086549. 1
68634086550. 2
68634086551. 3
68634086552. 4

Question Number : 38 Question Id : 68634021905 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i< &l By R e B
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Options :

68634086549. 1
68634086550. 2
68634086551. 3
68634086552. 4

Question Number : 39 Question Id : 68634021906 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the Infix Notation?

1. x¥*y+z

[ )

o md 1

T

. Zxy*+
4. *+xyz

Options :

68634086553. 1
68634086554. 2
68634086555. 3
68634086556. 4

Question Number : 39 Question Id : 68634021906 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffarad | & 91 gafhad e 82

1. x*y+z

[ ]

oy

Ly ]

. ZXy*+
4. *xyz

Options :

68634086553. 1
68634086554. 2
68634086555. 3
68634086556. 4

Question Number : 40 Question Id : 68634021907 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Name of Memory Size No. of Bits
A |1PB I [sx10!?
B. |1 GB L] gx10®
C. |1 TB 1| gx1nl2
D.[1 MB V] 8x10°

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

[

CA-TV, B-IIIL, C-I1, D-1
3. A-IILL B-ILL C-IV, D-I

4. A-L. B-III. C-I1. D-IV

Options :

68634086557. 1
68634086558. 2
68634086559. 3
68634086560. 4

Question Number : 40 Question Id : 68634021907 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=11 91y Gl 11 D1 fieH SHifsu|

T 1 11
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ATH)

A_ |1 PB(UTET I |8x101°

B. |1 GB(EiTEN) 11 [sx10°

C. |1 TBEHED M1 Jex1012

D. |1 MB(UHE! IV [gx108

A1 fag e faeedl # @ F61 3R B 98 BifoI:

1. A-I. B-II. C-III. D-IV

| ]

CA-TV, B-IIT, C-I1, D-I
3. A-IIIL, B-II, C-IV, D-1
4. A-lI, B-1II. C-1II. D-IV
Options :

68634086557. 1
68634086558. 2



68634086559. 3
68634086560. 4

Question Number : 41 Question Id : 68634021908 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not related to data types m a programming?

1. Integer

[ E]

. Char

. Float

]

4. GUI

Options :

68634086561. 1
68634086562. 2
68634086563. 3
68634086564. 4

Question Number : 41 Question Id : 68634021908 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FrefaRaa 1 9 g Wit o S 91 S1el WeR | SiEd 161 67
e (Integer)
IR (Char)
 Tle (float)
SIS (GUD)
Options :
68634086561. 1
68634086562. 2

68634086563. 3
68634086564. 4

[—

| ]

Lad

e

Question Number : 42 Question Id : 68634021909 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s/are a computer program?

1. Compilers only

()

. Interpreters only

. Assemblers only

]

4. Compilers, Interpreters and Assemblers

Options :

68634086565. 1
68634086566. 2
68634086567. 3
68634086568. 4

Question Number : 42 Question Id : 68634021909 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefafad & 3 o1 91 S Ui 8782
1. Hdd HHER
. Had geUR
 Had TR
4. P, TIUe AR TEER

| ]

Lad

Options :

68634086565. 1
68634086566. 2
68634086567. 3
68634086568. 4

Question Number : 43 Question Id : 68634021910 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI

(Basic Data Types in LIS.T :.[I
C/Python Programming) st
A |Integer I |25
B. | Real I | 52.21
C. | Char Il |F
D. | String IV, |"98100198"

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-IV, B-II, C-III. D-I
3. AL B-IT, C-IV, D-1
4. A-II. B-IV. C-I11, D-I

Options :

68634086569. 1
68634086570. 2
68634086571. 3
68634086572. 4

Question Number : 43 Question Id : 68634021910 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y11 % 91y gl 11 61 ieH Sifsu|
|
(C.-'UEW% A qa i
TRTTFR) (=

A B I |-25

B. [N3d o0 |5221

C. [#X @¥F) 1L |F

D. [ IV, |"98100198"
i feu e faeedl § ¥ 98l STR &1 98- Bifeu|

1. A-I, B-II. C-IIL, D-IV

| ]

CA-IV, B-IL C-I11, D-I
3. A-IIL. B-II. C-IV, D-I

4. A-II. B-IV. C-IIIL D-I

Options :

68634086569. 1
68634086570. 2
68634086571. 3



68634086572. 4

Question Number : 44 Question Id : 68634021911 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a web browser, URLs stands for:

1. Uniform Resource Locators

()

. Universal Resource Locations

. Universal Resource Locators

]

4, Umiform Resource Loeations

Options :

68634086573. 1
68634086574. 2
68634086575. 3
68634086576. 4

Question Number : 44 Question Id : 68634021911 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% 49 SISoR 8 URL BT AW G -
1. gAeH RO dieed
giadd R die e
gHada R dded
4. gAETH RE areR=
Options :
68634086573. 1
68634086574. 2

68634086575. 3
68634086576. 4

| ]

[F5]

Question Number : 45 Question Id : 68634021912 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the mternet. WWW stands for:

1. Word Wide Web

()

. World Wide Web

. World Wibe Web

]

4, Word Width Web

Options :

68634086577 1
68634086578. 2
68634086579. 3
68634086580. 4

Question Number : 45 Question Id : 68634021912 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geic 1 5oy sy 5o B R AT § -
1.9 ag8 a8
. J@ aIgS 49
. g¢s aIsd a4
498 fagyda
Options :
68634086577. 1
68634086578. 2

68634086579. 3
68634086580. 4

| ]

Lad

Question Number : 46 Question Id : 68634021913 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Data type Descriptions

; ; Specifies character type data of length n whers
2 JCER ! n could be any value from 0 to 253

B. [VARCHAR®M)| T Specifies character type data of n length where

n could be any value from 0 to 255

c Nt 1. 5pec1f1es an mteger value. Each of its value
occupies 4 bytes of storage.

D. |FLOAT IV

Holds numbers with decimal points. Each its
value occupies 4 bytes of storage.

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

(R

CA-IL B-IL C-IV. D-III

CA-L B-IIL C-IV. D-III

Lad

4. A-IL. B-1. C-III. D-IV

Options :

68634086581. 1
68634086582. 2
68634086583. 3
68634086584. 4

Question Number : 46 Question Id : 68634021913 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 & 91y Gl 11 D1 HeH Sifsu|

I 11

@ﬂ@m (e
L TS @ S8 @ $ided UDR Hiay
A [ CHAR(n) I [BXdl & S6l o @1 79 $3 1 0 ¥ 255
d® &l 9odl o
] TEE & 2l B Pidel UHR Hiay
B. | SXPIVARCHAR ()| 11 [T & &l o 1AM TS 1 0 ¥ 255
dF &l Tddl o

U qUligs HIF bl (1P &dl 2| 59|
UL b i 4 dI5ed 97g U WRdl o
SUiHd fag & 91y 9=01 Bl 3Ed B
D. | FI1@ FLOAT IV. [5H®T IS A 4 F15¢H 578 B U]
(cIdn 1
i [3U 170 fddedl | ¥ Tol 3T &1 99 Sl

1. A-I, B-II. C-IIL, D-IV

C. |32 INT

| ]

CA-IL B-LL C-IV, D-IIIT
3. A-L B-IIL C-IV, D-II1
4, A-I1. B-1. C-III. D-IV

Options :

68634086581. 1

68634086582. 2

68634086583. 3
68634086584. 4

Question Number : 47 Question Id : 68634021914 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Queue is a data structure in which insertion and deletion is done from one end only, usually
referred to as TOP.

Statement II: Queue follows the principle of First In First Out (FIFO).

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement 11 15 false

4. Statement [ 1s false but Statement 11 1s true

Options :



68634086585. 1
68634086586. 2
68634086587. 3
68634086588. 4

Question Number : 47 Question Id : 68634021914 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S IEACIEACURINE

HYA1 . T UD ST o g forgd fasall off 9 &1 3@ a1 g1 dad Uo R 1 §idl 5. JHId: SHP
219 (TOP) ¥ SRITa1 ST & |

DY L : T HE g4 B 33C (FIFO) HID] & GG BT IR0 Il 6|

SWRIdd YU & 3Taid J i ST U fdweni H 9 9el SR @1 =07 B
1. PUA I AR I GH T &

YT ARG A

| ]

3. DU I 9 &, difh hUH II 319 ¢

4. PYTI I 8. APT FYT I TT B

Options :

68634086585. 1
68634086586. 2
68634086587. 3
68634086588. 4

Question Number : 48 Question Id : 68634021915 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The conversion of the Denary number 107 into the binary 1s:

1. 11010110

()

. 01101011
3. 10100110

4. 01110110

Options :

68634086589. 1
68634086590. 2
68634086591. 3
68634086592. 4



Question Number : 48 Question Id : 68634021915 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

S (denary) §&AT 107 BT § =Nl YRl g -

1. 11010110

| )

. 01101011

. 10100110

Lad

4. 01110110

Options :

68634086589. 1
68634086590. 2
68634086591. 3
68634086592. 4

Question Number : 49 Question Id : 68634021916 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Software Descriptions

N [Users have the freedom to run_ copy,
change or adapt free software
[t is a software a user can download

B. | Freeware 1L | :
from the intemnet free of charge
[Users are allowed to try out some

C. | Shareware IIT. |software free of charge for a trial
period.
[Helping to prevent viruses or hackers

D. | Firewall IV, |entering the user computer (or internet
network)

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV

()

A-IV, B-II1. C-II. D-I

. A-IIL B-IL. C-IV, D-I

Laa

4. A-1, B-IT1. C-I1. D-IV

Options :

68634086593. 1
68634086594. 2
68634086595. 3
68634086596. 4



Question Number : 49 Question Id : 68634021916 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1% 91U =l 11 DT e Sifey

1 = 11
HIFETmR) EEEL)

o IoR & U 3HP! T B, DI B,
A BIORER | I [Gco 1! 9ieam @ o1 &1 WaFdl

By
|
. ugwa‘fumue%ﬁwwﬁmw
B. [BIaR I e 2
o Rch & 5eXHC Y SI3Aals DI Hhdl g |
. I U I B & oY
C—. IEI.@" 7, = it [t
Y daR & WP & WIid eldl g
aTE3E DI XD T 6 Y DI HHIX H
D. [GTEdd IV [(5H (@1 22 Headh) 4 U H Heg
ARG

-1 fu 7T fasedl § 9 9el GTR &7 98- Hifore:

1. A-I. B-II. C-III. D-IV

[ ]

CA-TV, B-IITL C-I1, D-I

AL B-IIL C-IV, D-I

L]

4. A-L. B-III. C-II. D-IV

Options :

68634086593. 1
68634086594. 2
68634086595. 3
68634086596. 4

Question Number : 50 Question Id : 68634021917 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The advantage of Graphical User Interface (GUI) 1s:

1. The user does not need to learn any commands

()

. It needs an operating system. such as windows. to operate, which uses up considerable memory.

. The user is limited to the icons provided on the screen.

L%

4. Synchronization 1s required.

Options :

68634086597. 1
68634086598. 2
68634086599. 3



68634086600. 4

Question Number : 50 Question Id : 68634021917 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T goR 5 Y (GUI) P BTIST e
ok @ D15 Ul PHIVS BT UG- 31 S=d el Usdl o

.39 U TR Ried &t Sexd Usdl ¢ o [ [dsis fohara & fere ol i U siftied SO &1
ERSCREHIN

F&p R goR 31 Hiftrd amg@ € we 31 et 8

-

)

Lad

 FiwATgeieH @t oed usdt o

s

Options :

68634086597. 1
68634086598. 2
68634086599. 3
68634086600. 4

Question Number : 51 Question Id : 68634021918 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dervative i of the function y = smicos(log(x))) 1s.
dx

1. cos (cos (log (x)))

[

. cos (cos (log (x))) sin (log(x))

Fi—A L}cos (cos (log (x)))sin (log (x})
x

4. — cos (sin ( L)l
x
Options :
68634086601. 1
68634086602. 2
68634086603. 3
68634086604. 4

Question Number : 51 Question Id : 68634021918 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT y = sia(cos(log(x))) DT HIRT ‘di 3
X

1. cos (cos (log (x)))

| )

. cos (cos (log (x))) sm (log(x))

3= L) cos (cos (log (x)))sin (log (x))
X

4. — cos (sm ( L))
x

Options :

68634086601. 1
68634086602. 2
68634086603. 3
68634086604. 4

Question Number : 52 Question Id : 68634021919 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The resultant vector of the cross product of the two vectors j .27 £ 2f 4 j 4k i

L i_j+k

2 fy; k

3.3(.«’-_}—;2)

43+ i=B
Options :

68634086605. 1
68634086606. 2
68634086607. 3
68634086608. 4

Question Number : 52 Question Id : 68634021919 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl gl P+2]—k:2i +j+k & G TUFHE 1 UINOTH SiG9 5-

Loi-j+k

204 k

3.3(f - j-k)

4. 3(+j-k)
Options :

68634086605. 1
68634086606. 2
68634086607. 3
68634086608. 4

Question Number : 53 Question Id : 68634021920 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The area bounded by the curve y = sin(x) between x = 0 to 2x 1s,

1.1

2

| )

4.4

Options :

68634086609. 1
68634086610. 2
68634086611. 3
68634086612. 4

Question Number : 53 Question Id : 68634021920 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x =09 22 & &9 I3 dd y = sin(x) B EHB[W%

1.1

[ )
]

L
LF¥]

4.4

Options :



68634086609. 1
68634086610. 2
68634086611. 3
68634086612. 4

Question Number : 54 Question Id : 68634021921 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of J' [ing[r)); dx =
X

1. (log (x))

+C
3
2. log(x)+C
Foe
I .
4. _1 +(
3x°
Options :

68634086613. 1
68634086614. 2
68634086615. 3
68634086616. 4

Question Number : 54 Question Id : 68634021921 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T | (log(x)) g PR
X

i ('“g (-"])"
3

+(

-J

log(x)+C

1

T o
3
Options :
68634086613. 1
68634086614. 2



68634086615. 3
68634086616. 4

Question Number : 55 Question Id : 68634021922 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6
The term which is independent of n in the expansion of [ Tx?+—| is
X

l. Sfl.'l

)

. _,ITh

3. _th

4. 61'1‘1

Options :

68634086617. 1
68634086618. 2
68634086619. 3
68634086620. 4

Question Number : 55 Question Id : 68634021922 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0
[?f +1J » AR AP T ma ST

X
IGIEE
T

e

3. 4rddr

[ ]

4,331
Options :
68634086617. 1
68634086618. 2
68634086619. 3
68634086620. 4

Question Number : 56 Question Id : 68634021923 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The distance between two straight lines 2x + 3y =5, 2x + 3y =10 1s.

1 5
! .\‘."'ﬁ

!_.J
4;]|
ey | W

[F¥]
___]‘ o

Fa
L

e
=1~

W1

Options :

68634086621. 1
68634086622. 2
68634086623. 3
68634086624. 4

Question Number : 56 Question Id : 68634021923 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R I 2x + 3y =5, 20+ 3y = 10D dT DI G E -

5
1,—.'—!

P

| ]

3
J

[
£
:1\ i

Options :

68634086621. 1
68634086622. 2
68634086623. 3
68634086624. 4

Question Number : 57 Question Id : 68634021924 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: : 2 : . m
Consider the trigonometric equation tan(x) — tan(y) = 0. where x and y are not odd multiples of JE . Then the

solution of this equation 1s

Lx=nn+(-1)%

)
H
Il
St

lx=nnty
dx=nn—y

Options :

68634086625. 1
68634086626. 2
68634086627. 3
68634086628. 4

Question Number : 57 Question Id : 68634021924 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eouiirda gHie tan(x) — tan(y) = 0 EAGEIRY ﬁﬁm ERE; Gﬁ?}; g %%@WH@[%I ?ﬁﬁ
Tefie0T BT 5 &-

Lx=nn+(-1)"

-2
i
Il
]

4 x=nn—y

Options :

68634086625. 1
68634086626. 2
68634086627. 3
68634086628. 4

Question Number : 58 Question Id : 68634021925 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In regression analysis independent vanable 1s also called as:

1. Explained

[ E]

. Regressor

. Regressed

]

4. Estimator

Options :

68634086629. 1
68634086630. 2
68634086631. 3
68634086632. 4

Question Number : 58 Question Id : 68634021925 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HATYIUT fIeeyr (TR # Wdd =R B 599 i SE1 o g-
1. ST
Ty
IOy

| ]

Lad

4. AlDH P

Options :

68634086629. 1
68634086630. 2
68634086631. 3
68634086632. 4

Question Number : 59 Question Id : 68634021926 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The angle between a pair of lines given by

re= 3?+2}'—2!§ +4 (f+2.}'+2,EEJ,r‘ =5-27+2, (3f+2j+fj;g)i;:

1( 19
1. cos —
lej
; 19
2. sin I[—]
21
) .(1?]
J. COs —
21
)
4, tan —
21
Options :
68634086633. 1
68634086634. 2
68634086635. 3
68634086636. 4

Question Number : 59 Question Id : 68634021926 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T F ST BT S -

F=31+2]-2k+4 (f+2.}'+2£],r‘ =5 -27+4, (_3f+2_}+m€].

J

©

1. cos 1[

b

[ ]
WL

%
— —
tdl—'

— |~
S ', A b R

sin

8]

. COS

4, tan

oy
Sl

Options :

68634086633.
68634086634.
68634086635.
68634086636.

AW N =



Question Number : 60 Question Id : 68634021927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Line of regression of v on x 1s the line which gives the best estunate for the value of y for any
spectfied value of x.

Statement IT: Line of regression of x on y 1s the line which gives the best estimate for the value of x for any
specified value of v.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement 1T 1s false

4. Statement I 1s false but Statement 11 1s true

Options :

68634086637. 1
68634086638. 2
68634086639. 3
68634086640. 4

Question Number : 60 Question Id : 68634021927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i gl YA feu U B:

DU : x TR y BT FHIHYUI @1 98 @1 € Sl o bl +f » & FiEw 79 & feig ) & 7 &1 Tad 31
HHTH &l 5

DU : y TR x BT FHIHYVI I T8 341 ¢ S b bl T 5 o P A & 10 & A1 &1 9l 331
T &l o

SRIF HY & HTelld H A1 [GU T [dFHed] § H el SR &1 90 DIoIC:
1. DY RIS T &
PYTI IR I SH 3T

-2

3. PUTI T &, AT FUTII 3T ©

4 B HTI . T YT I IO

Options :

68634086637. 1
68634086638. 2
68634086639. 3



68634086640. 4

Question Number : 61 Question Id : 68634021928 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the set of those elements which are common in both 4 and B?
1.ANB
2.AUB

.A-E

s

4. 4ANB

Options :

68634086641. 1
68634086642. 2
68634086643. 3
68634086644. 4

Question Number : 61 Question Id : 68634021928 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafaa & o 91 3 sraual &1 9=y & off 5 4 iR B # SyaFg § -

1.ANOEB

| )

. AUB

.A-B

[ ]

4.4NB

Options :

68634086641. 1
68634086642. 2
68634086643. 3
68634086644. 4

Question Number : 62 Question Id : 68634021929 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A commuttee of two persons 1s selected from two men and two women. What 1s the probability that the
committee will have at least one man?

| ]

wlts Wl—

| e

.
2
Options :
68634086645. 1
68634086646. 2
68634086647. 3
68634086648. 4

Question Number : 62 Question Id : 68634021929 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ggﬂ“f SIR &l Afgarsii # 9 2 dril &1 ue Iifd -t 715 | 90 o 0 3 ©0 U oy & g4 @ Uifkesd
&1 87

-J

1
3
2
3

| =

b | =

Options :

68634086645. 1
68634086646. 2
68634086647. 3
68634086648. 4

Question Number : 63 Question Id : 68634021930 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 1 |
+ + it PR © _
loga N logs N logy N log;s N

The value of 18:

|
e ——
|0g152 N

(R

log (15!
. log,, (15!)

Options :

68634086649. 1
68634086650. 2
68634086651. 3
68634086652. 4

Question Number : 63 Question Id : 68634021930 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 1

+ + i T - @ HAE -
log: N logzs N logy N logs N %

1, ——
Iog]iz N
2. log__ (15!
2. log, (15
1
3.
log (15!
og, (15!

2
4.

Options :

68634086649. 1
68634086650. 2
68634086651. 3
68634086652. 4

Question Number : 64 Question Id : 68634021931 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ten cards numbered 1 to 10 are placed 1n a box and one card 1s drawn randomly. If 1t 18 known that the number
on drawn card 1s more than 2. The probability that it 15 an odd number 1s:

|

l. 2
2
3
2“ —
4
1
. 1
8
7
.
8
Options :

68634086653. 1
68634086654. 2
68634086655. 3
68634086656. 4

Question Number : 64 Question Id : 68634021931 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS gag § 1 9 10 %R & 29 U &1 @1 T & 3R U6 U Oefsd &0 I (e oiar 21 3R U8 Il
e T FArasrar a1 g 2 O 3ifde 9ra &1 8, 91 39 Ul & faud I g4 & a1 wiftedr gt

1

1. =
2

3
2. o
4
1
3. -
5

7

4, -
8
Options :

68634086653. 1
68634086654. 2
68634086655. 3
68634086656. 4

Question Number : 65 Question Id : 68634021932 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The mode of the following distribution:

1,4.3,5,6,3,3,. 2,43, 4.3, 3,4,4.2. 3

| ]
L]

3.4
4.5

Options :

68634086657. 1
68634086658. 2
68634086659. 3
68634086660. 4

Question Number : 65 Question Id : 68634021932 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f3U U e &1 dga® o1 g

T3, 8,6,3;3, 2, 43,4, 3, 3,44, 2,3

| ]
[¥5)

3.4

4.5

Options :

68634086657. 1
68634086658. 2
68634086659. 3
68634086660. 4

Question Number : 66 Question Id : 68634021933 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Standard Error of the sampling distribution of a statistic 13 given by:

1. Median

[

. Mode

3. Correlation coefficient

4. Standard Deviation



Options :

68634086661. 1
68634086662. 2
68634086663. 3
68634086664. 4

Question Number : 66 Question Id : 68634021933 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Hile®! & 99| & ded S AHD Jic o -
1. HifeiyepT 9

. §gdd I

 ggddy qulie ¥
4. 9% fGae 9

Options :

68634086661. 1

68634086662. 2

68634086663. 3
68634086664. 4

| ]

Lad

Question Number : 67 Question Id : 68634021934 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
_— . . . Ifh" ¥ g 2 X
The rate of activity of a person y with age ¢ is given by (14 r}; =¢ - —1 For the initial condition y=1at t = 0, the
)
solution 1s grven by,

L
=
Il

=

[ )
L
Il
=
—_— —— ——,
—
+ | ™
—
M -. L

Options :

68634086665. 1
68634086666. 2
68634086667. 3
68634086668. 4



Question Number : 67 Question Id : 68634021934 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Afdd & B S &1 &3 35 & 9y {lrr}%:e}' | a3 YRS ¥y = 1, ¢ = 0 RETH 5
[}
g g s sem

seu()

-

]
52
Il
g
—
-
ol

Options :

68634086665. 1
68634086666. 2
68634086667 3
68634086668. 4

Question Number : 68 Question Id : 68634021935 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~

2 Y .
The area bounded by two parabolas y = x~, x =y~ 1s,

1. 0 vt

[ ]

. 1/2 unit
3. 1/3 unit

4. 1/4 unit

Options :

68634086669. 1
68634086670. 2
68634086671. 3
68634086672. 4

Question Number : 68 Question Id : 68634021935 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I RAWl y =%, x =) Y TER GU & T eABa § -
1.0SHE

12 3Pl

3. 135®E

4. 1/45DTg

Options :

68634086669. 1
68634086670. 2
68634086671. 3
68634086672. 4

| ]

Question Number : 69 Question Id : 68634021936 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distance of a point whose position vector 1s # from the plane § . ji = 4 1s,

1. |d

2 fi-i

3. |d-rF-n

4. |d—u-il
Options :

68634086673. 1
68634086674. 2
68634086675. 3
68634086676. 4

Question Number : 69 Question Id : 68634021936 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ fomg O ol ar et ot fufa afe oo 9ad 7.h—a 20 &

i
—
=i
)

FlL L

4. |d—u-hl

Options :

68634086673. 1
68634086674. 2
68634086675. 3
68634086676. 4

Question Number : 70 Question Id : 68634021937 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The integral j: X log(x) dx equals:

1 3t

4

2 {lug{-ﬂ ﬂ

4

[Iug{?;}]

'y

()

w
.

: [Iog[.’%}] .l

16

E_)J
> |

4
3 | |
4. —llog(3 —}r—
4{&’”4 16

Options :

68634086677. 1
68634086678. 2
68634086679. 3
68634086680. 4

Question Number : 70 Question Id : 68634021937 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W] 3 log(x) dr SRS &-

N oY

1. 37
4

[lu;:{ }1

;;.

3

: {Iog{ ) ﬂ

[lubﬁﬂ —I

16

aa [ )

L|w_;_~.

.;_\_

3 | |
N 4 [I%m 4} "6
Options :
68634086677. 1
68634086678. 2
68634086679. 3
68634086680. 4

Question Number : 71 Question Id : 68634021938 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R : :
The dertvative —— of the function y =x" is

dx
1. o
2. ¥log(x)
3oxet
4. [1+log(x)]x*

Options :

68634086681. 1
68634086682. 2
68634086683. 3
68634086684. 4

Question Number : 71 Question Id : 68634021938 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dx
Loxx®
2. ¥log(x)
3 xe"
4. [1+Hog(x)]x*

Options :

68634086681. 1
68634086682. 2
68634086683. 3
68634086684. 4

Question Number : 72 Question Id : 68634021939 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For any positive integer m. 7 — 3™ is divisible by

1.4

2T

L
L)

4. 10

Options :

68634086685. 1
68634086686. 2
68634086687. 3
68634086688. 4

Question Number : 72 Question Id : 68634021939 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oot ot eTe® quiies m & fore , 7 — 37 RefafEa 4 9 fews v g -

1.4

4.10

Options :
68634086685. 1



68634086686. 2
68634086687. 3
68634086688. 4

Question Number : 73 Question Id : 68634021940 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the parabola which 1s symmetric about the y-axis and has its vertex at origin and passes
through the pomnt (1, —1) 1s

l.x*+y=0
2.5 —y=
3.x2=0
4.52=0
Options :

68634086689. 1
68634086690. 2
68634086691. 3
68634086692. 4

Question Number : 73 Question Id : 68634021940 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TRacTd & THIGIU Sl {3 y-31& & I 5. 9! Y gafeg W g 3R fag (1. -1) T ToRdl 6 -

Lt +y=0
l.xz—}==0
3.x7=0
4.y°=0
Options :

68634086689. 1
68634086690. 2
68634086691. 3
68634086692. 4

Question Number : 74 Question Id : 68634021941 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the sets X and ¥ are mutually exclusive, then P (X 11 ¥) 15

1.0

)

Laa
[

4.1

Options :

68634086693. 1
68634086694. 2
68634086695. 3
68634086696. 4

Question Number : 74 Question Id : 68634021941 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3R & I X 3R ¥ IRER HUGS g A1 P (XN 1) B -

1.0

| B}

4.1

Options :

68634086693. 1
68634086694. 2
68634086695. 3
68634086696. 4

Question Number : 75 Question Id : 68634021942 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three cards are drawn successively. without replacement from a pack of 52 well shuftled cards. The
probability that first two cards are kings and third card drawn 18 an ace 1s

()

L¥]
ST
—
wl""
i )
Lad

—1'. I
5525
Options :
68634086697. 1
68634086698. 2
68634086699. 3
68634086700. 4

Question Number : 75 Question Id : 68634021942 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 52 U dTel 38 axidl 9 Be 0 Il 9 fo1 95d 3 7 Fieere od €1 98 &l 9= X iR dRR ud
P TP 3aP1 51 I T Wit g

. L

13
2. Rl
132
3
(3
13
2
4| .
5525
Options :

68634086697. 1
68634086698. 2
68634086699. 3
68634086700. 4

Question Number : 76 Question Id : 68634021943 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One card 1s drawn from a well shuffled deck of 52 cards. If each outcome 1s equally likely, The probability that
the card will not be a king is:

| D)

Lad

Options :

68634086701. 1
68634086702. 2
68634086703. 3
68634086704. 4

Question Number : 76 Question Id : 68634021943 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

52 O] I 3=y aiih § U T U9 I U U fHaTal ora §, 3R 94t & I9H A 1 9R1a1 8 1 99
T} & 7Sl AT T P a1 UTidasdT gl

B

| ]

e

| —

| w2

Options :

68634086701. 1
68634086702. 2
68634086703. 3
68634086704. 4

Question Number : 77 Question Id : 68634021944 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The arthmetic mean and standard deviation of a series of 20 items were calculated by a student as 20 em and
5 em, respectively. But while calculating them an item 13 was misread as 30. The correct standard deviation is

[ )
e
=]
=)

3.4.95
4.4.88

Options :

68634086705.
68634086706.
68634086707.
68634086708.

AW N =

Question Number : 77 Question Id : 68634021944 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U B GRI 20 HEA1371 F1 U Juil T GHIR T SR AHD fa=e S 20 9. 3R 5 AT 81 A
0T S 999 U 947 13 DI Tad 9 30 U @ a1 df et A9 [d9a- & -

1.4.53

[ )

. 4.66
3.495

4. 488

Options :

68634086705. 1
686340867006. 2
68634086707. 3
68634086708. 4

Question Number : 78 Question Id : 68634021945 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let ¥ 1s the mean of the vanate values xq. x,...., xoy. If a constant value 4 1s subtracted from each vanate

value, then the resulting new mean is:

1. x—-4

2. x-NA

3. x4

4. ¥
Options :

68634086709. 1
68634086710. 2
68634086711. 3
68634086712. 4

Question Number : 78 Question Id : 68634021945 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT {3 fa=R A1 x,. %, xg BT 7 B 3R US =R T 4 Tl f3=R 911 9 veran S g o =74
qRUTHT A1 1 BT

1. x-4

2. x—-NA

3. x4

4. ¥
Options :

68634086709. 1
68634086710. 2
68634086711. 3
68634086712. 4

Question Number : 79 Question Id : 68634021946 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If P(4 M B)=P(A).P(B). then event of 4 and B are:

1. Independent

[ E]

. Dependent

. Null sets

]

4. Mutually exclusive

Options :

68634086713. 1
68634086714. 2
68634086715. 3
68634086716. 4

Question Number : 79 Question Id : 68634021946 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STRPANB)=P(4).PB)8. NTATL 4 RBE -

i3

4, OER gqai

Options :

68634086713. 1
68634086714. 2
68634086715. 3
68634086716. 4

Question Number : 80 Question Id : 68634021947 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The Geometric mean of a set of 11 observations is the nth root of their product.

Statement IT: If 1. X5, X5 ... X are the given n observations. then their G.M. 1s given by

%;;[.".'1 } ( X’El (—15'3 ) ( .-‘.-”}

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false

4, Statement [ 1s false but Statement II 1s true

Options :

68634086717. 1
68634086718. 2
68634086719. 3
68634086720. 4

Question Number : 80 Question Id : 68634021947 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR mrRumue:
BYAI : n HTATDA dldl U TH=T BT IR H1e4 3P 1UH & »™ Jd 5Idl 5|

DY : SR, Xy, K. .... X, 0 SACID QUMY & A SADTOIRR A (X)) (X7) (X3) - (X)
BT
ORI Y & ATl § = 3T T fde el § 9 969 Sugad 3Tk &1 99 ST
1. FYF 1 3R 11 ST Tel &
YA 1 SR I T AT §
3. BUF 1 TR . Al HYH 11 TTed §
4 YA 17T 8, A PuT I Ie 8

Options :

68634086717. 1
68634086718. 2
68634086719. 3
68634086720. 4

-J



Question Number : 81 Question Id : 68634021948 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the linear function from Zto Z: f = {(0.-5), (1, 0), (2, 5), (-1, —10)}. Then the function f(x) is:

1. f(x)=5x—5
2. f(x)=5x
3. fx)=x-5
4. f(x)=-5
Options :

68634086721. 1
68634086722. 2
68634086723. 3
68634086724 4

Question Number : 81 Question Id : 68634021948 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA BA ZH Z: f = {(0.-5). (1. 0). (2. 5). (=1. -10)}. R TR FIMT| T B f(x) ©-

1. f(x)=5x—5

2. f(x) = 5x

3. f(x)=x-75

4. f(x)=-5
Options :

68634086721. 1
68634086722. 2
68634086723. 3
68634086724. 4

Question Number : 82 Question Id : 68634021949 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Any square matrix 4 can be expressed as:

1. The product of a symmetric and a skew-symmetric matrices.

()

. The division of a symmetric matrix by a skew-symmetric matrix.
3. The sum of a symmetric and a skew-symmetric matrices.

4. The subtraction of a symmetric from a skew-symmetric matrix.



Options :

68634086725. 1
68634086726. 2
68634086727. 3
68634086728. 4

Question Number : 82 Question Id : 68634021949 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feft af sitogg 4 &1 quiar ST @ a & -
U FEHT 1og 3R TP vy Jafid siogg & 1uH 9
. Uch GHIHT 3T &1 U [quH 3(1egg & U |
U FEHT g AR U fauT 1o & an |
. Ueh JAIHA 3iogg ¥ faww T 3iegg & 9eH 4|
Options :
68634086725. 1
68634086726. 2

68634086727. 3
68634086728. 4
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Lad
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Question Number : 83 Question Id : 68634021950 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v 18 equal to

F 7 3
The integral j' o —x
b -1

!u
&=

O B=lw

I
4, ——
4

Options :

68634086729. 1
68634086730. 2
68634086731. 3
68634086732. 4



Question Number : 83 Question Id : 68634021950 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dx SUSR T -

3
X —x

TJHG fl

!q
|-

R = -

[ 5]

|
4,
4

Options :

68634086729. 1
68634086730. 2
68634086731. 3
68634086732. 4

Question Number : 84 Question Id : 68634021951 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the hyperbola whose foci are (0. £12) and the length of the latus rectum 1s 36 is

[
L]
Pt
|
-
(o]
Il
—
=
[#a]

4. 12y* —3x

Options :

68634086733. 1
68634086734. 2
68634086735. 3
68634086736. 4

Question Number : 84 Question Id : 68634021951 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SffIRaag BT THIG0 31 BT, Forge! A1 (BIdY) (0, £12) § 3R AN P TS 36 57
O 1 T
235t =108

3. 9% 1= 1

Options :

68634086733. 1
68634086734. 2
68634086735. 3
68634086736. 4

Question Number : 85 Question Id : 68634021952 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The direction cosines of x-axis, y-axis and z-axis. respectively are:

[ \

.0,0], [0,

_1:-},['0,11

Fo\

S B
| A

| =

\
\

[ ]

(2,0, 0), (0, m, 0), (0. 0, )
7 T 1';
5J| f .59}

L0, — |,
2.1
4. (1,0, 0), (0, 1, 0). (0,0, 1)

5|

LF¥]
A
A

(o,
LY

R
A

Options :

68634086737 1
68634086738. 2
68634086739. 3
68634086740. 4

Question Number : 85 Question Id : 68634021952 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



x-3He, -8 3R z-31ef B fE-Hrarg— v §-

WP e ST e

. |Z00) (0 % 0][00Z]

2 J \ 2 / i.\ 2)
2. (x. 0, 0). (0. . 0), (0, 0. )

F| S| ! 'IIJ .'[‘1 T T 3

3, r].li.‘—]_|3,n,",fI_f-,n;

2 20\2 2 2t

4.(1,0,0),(0,1.0).(0,0. 1)

Options :

68634086737. 1
68634086738. 2
68634086739. 3
68634086740. 4

Question Number : 86 Question Id : 68634021953 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The regression analysis confined to the study of only two variables at a time. 1s called as:
1. Simple Regression
2. Difficult Regression
3. Di-Regression
4. Multiple Regression

Options :

68634086741. 1
68634086742 2
68634086743. 3
68634086744. 4

Question Number : 86 Question Id : 68634021953 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ToTTT faweyo] U I0g B Had of TR1 & A0 & forg ot Afgd &, seamars -
1. IO FHTLTT

3. SI-GaTHT

| ]

4. 98 (UeiUel) - SHIHGU

Options :

68634086741. 1
68634086742. 2
68634086743. 3
68634086744. 4

Question Number : 87 Question Id : 68634021954 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The security guard of a hospital allows enter to 5 persons from a room for a checkup from a group of patients
which has 10% Covid infected patients. The probability that there 1s at least one person Covid infected
patients. 1s -

5
1.9_ﬁ
10
5
0 (el
10°
) 910
ml(}
10
s
1010
Options :

68634086745. 1
68634086746. 2
68634086747. 3
68634086748. 4

Question Number : 87 Question Id : 68634021954 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086745. 1
68634086746. 2
68634086747. 3
68634086748. 4

Question Number : 88 Question Id : 68634021955 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is the linear regression equation:

lLy=a+bx

~
L

[ R]

.y =ax

]

el ¥ ¥
s gl ot ol P

4, ax =}'2

Options :

68634086749. 1
68634086750. 2
68634086751. 3
68634086752. 4

Question Number : 88 Question Id : 68634021955 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa § 9 o1 91 U T garya SHER § -
lL.y=a+bx

1
r4

2.y=ax

L

2 ¥
3.a+x =

Sl

-

4. ax =y*
Options :
68634086749. 1
68634086750. 2

68634086751. 3
68634086752. 4

Question Number : 89 Question Id : 68634021956 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a correct relation if and only if all the n observations are equal?

1. Arithmetic Mean = Geometric Mean

()

. Arithmetic Mean < Geometrie Mean
3. Arithmetic Mean = Geometric Mean

4. Arithmetic Mean = Geometric Mean

Options :

68634086753. 1
68634086754. 2
68634086755. 3
68634086756. 4

Question Number : 89 Question Id : 68634021956 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafad 8 9 19 1 98! 3a ¢ Ofe 3R ad afe Ot » e SRel & -

[a—y

AR 71 = IR H1E

| ]

. FHIOR A1 < TUIR |

L]

 GHIOR H1e8 = Ui 11
4. IR 714 > T[UIR I

Options :
68634086753. 1



68634086754. 2
68634086755. 3
68634086756. 4

Question Number : 90 Question Id : 68634021957 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X 1s a square matrix of order N x N, then for any constant ¢, |cX] 1s equal to.

1. ¢lX]

[
o
[
=
fia)

]
Ty

4. ¥

Options :

68634086757. 1
68634086758. 2
68634086759. 3
68634086760. 4

Question Number : 90 Question Id : 68634021957 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
af% X TP N x N DI o1 1 of1oug 3, a1 ool off ok o & 0, |c) aR 3 -

1. ¢lX]

| ]
[
(o]
b
-~

L
L]

4. ¥

Options :

68634086757 1
68634086758. 2
68634086759. 3
68634086760. 4

Question Number : 91 Question Id : 68634021958 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The function F(x) = |x] atx=01s

1. Continuous

()

. Discontinuous

. Undefined

]

4. Differentiable

Options :

68634086761. 1
68634086762. 2
68634086763. 3
68634086764. 4

Question Number : 91 Question Id : 68634021958 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x =0 R B F(x)= x| © -
1. gdd
3dd
gfvaig et
4. gHag

Options :

68634086761. 1
68634086762. 2
68634086763. 3
68634086764. 4

| ]

Lad

Question Number : 92 Question Id : 68634021959 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and ¥ are invertible matrices of same order then

Ly l=x1¥"1

2 (m—] e F—lX—I

3 (xPi=x-ly

4. t=xv!
Options :

68634086765. 1



68634086766. 2
68634086767. 3
68634086768. 4

Question Number : 92 Question Id : 68634021959 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g4 X 3R ¥ §OF ¢ & AIehHug g © dl -

L.y l=x1y-1

[ ]

Ayt rip
3, (X l=x"1¥

4. (XY)_I — ‘ﬂf—l

Options :

68634086765. 1
68634086766. 2
68634086767. 3
68634086768. 4

Question Number : 93 Question Id : 68634021960 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thesum 12422+ + M2 MeNis

3
1. Equal to M
3
'1!‘
M-
25 {Hi
3
=
3
aM?

4. Equal to

Options :

68634086769. 1
68634086770. 2
68634086771. 3
68634086772. 4

Question Number : 93 Question Id : 68634021960 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

12422+ + M2IDHIONT I, SEI MeN,

s
1. M Sww
3
3
% el
3
3
3 M
3

4. M FR
"JF

Options :

68634086769. 1
68634086770. 2
68634086771. 3
68634086772. 4

Question Number : 94 Question Id : 68634021961 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i—1
The polar form of the complex number z= is,
] | X
COS|: :| +isin |: :|

1. \JE COS’VE}+ESM|:E}}
e L 3

II(’ _:JT_ 2 _R}J
— |+isin| —

\ 12 12

57 5%
3. \E cos| — |+isin| —
3 3 U

!_.J
frey
[ ]
o
(73]

Options :

68634086773. 1
68634086774. 2
68634086775. 3
68634086776. 4



Question Number : 94 Question Id : 68634021961 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i—1

s T BT YA UG -
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+isin
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o
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1
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w
=
1
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5
]
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Options :

68634086773. 1
68634086774. 2
68634086775. 3
68634086776. 4

Question Number : 95 Question Id : 68634021962 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 9 balls of which 4 are Golden, 3 are Silver and 2 are Steel. The balls are similar in shape and
size. A ball 1s drawn at random from the box. The probability that it will not be a silver ball:

e
9

!_._.'l

O |

Ll | =

=
L | ka2

Options :

68634086777. 1
68634086778. 2
68634086779. 3
68634086780. 4



Question Number : 95 Question Id : 68634021962 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® a0 § o Tig § foH 4 A6, 3 3ial 3R 2 WA & g1 71 STPR 3R 3MSfd § e § | IS Tig aiad
I ORI=s® = 9 Forar o1 §1 Tig & 9iel & A1 84 B WiftedT a1 g

!~_.l
¥ B [ S T = N

lod | —
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3

Options :

68634086777. 1
68634086778. 2
68634086779. 3
68634086780. 4

Question Number : 96 Question Id : 68634021963 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average marks of students in a group of 6 students 1s 119. The individual marks of five of them are 115,
109. 129, 117. 114. The marks of sixth student s

3
o
-2
L=}

4. 125

Options :

68634086781. 1
68634086782. 2
68634086783. 3
68634086784. 4

Question Number : 96 Question Id : 68634021963 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6 Bl & U T4 1 THEI & 3I1d 3 119 §1 5 BHI & oAfdaTa 3icb BT 115, 109, 129, 117, 114 5| I
B¢ B DI 91 3% B

1. 130

)
—
[ ]
=

4. 125

Options :

68634086781. 1
68634086782. 2
68634086783. 3
68634086784. 4

Question Number : 97 Question Id : 68634021964 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I Arithimetic mean of a given set of observations 1s their sum divided by the no. of observations.
Statement IT: If in a series the sum of 5 number 15 17. then the Arithmetic Mean of it will be 3.4 = 0.5.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement II are false

. Statement I is true but Statement II 1s false

L]

4, Statement [ 1s false but Statement IT 1s true

Options :

68634086785. 1
68634086786. 2
68634086787. 3
68634086788. 4

Question Number : 97 Question Id : 68634021964 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634086785. 1
68634086786. 2
68634086787. 3
68634086788. 4

Question Number : 98 Question Id : 68634021965 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standard deviation for the following distribution:

Class

30-40

40-50

50-60

60-70

70-80

80-90

90-100

Frequency

a

=

12

15

8

3

1.12.89

()

. 13.98
3.14.18

4.15.38

Options :

68634086789. 1
68634086790. 2
68634086791. 3
68634086792. 4

Question Number : 98 Question Id : 68634021965 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




o s

FEIRAd ded & U 9 [dga 31 &1 -
D

30-40 | 40-30 | 30-80 | 60-70 | 70-80 | 80-90 | 90-100

all
ahd | 3 7 12 15 8 3 2

1.12.89

| B

. 13.98
3. 1418

4. 15.38

Options :

68634086789. 1
68634086790. 2
68634086791. 3
68634086792. 4

Question Number : 99 Question Id : 68634021966 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Mean deviation about the Mean for the following data:

6,7.10,12,13. 4,8, 12

Options :

68634086793. 1
68634086794. 2
68634086795. 3
68634086796. 4

Question Number : 99 Question Id : 68634021966 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6.7,10,12,13.4, 8,12

| B
=~
=
[=]

4, 2.50

Options :

68634086793.
68634086794.
68634086795.
68634086796.

AW N =

Question Number : 100 Question Id : 68634021967 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the runs scored by two batsmen in their last ten matches as follows:
Batsman A: 30, 91. 0. 64, 42. 80, 30. 5. 117, 71
Batsman B: 53. 46, 48, 50, 53, 53, 58, 60, 57. 52
The Median of the runs scored by Batsman A and Batsman B respectively
1.52,42
2.53,50

.53, 80

T

4. 53, 53

Options :

68634086797. 1
68634086798. 2
68634086799. 3
68634086800. 4

Question Number : 100 Question Id : 68634021967 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Y 2] Sl gR1 3% S=ad 10 9l & 3 91 [dgR i)
geUald A: 30, 91, 0, 64, 42, 80, 30, 5, 117, 71

qaiardl B: 53, 46, 48, 50, 53, 53, 58, 60, 57, 52

Feoiarel A IR geoiarel B §RT 41T 70 31 &t AT Ha: §-

1.52,42

2: 53,50
3.53.80

4, 53,53

Options :

68634086797. 1
68634086798. 2
68634086799. 3
68634086800. 4



